GWD-TN-22: Verbal
------------------------------------------------------------------------------------------------------------

1. GWD1-Q29:（原CD1-29）
Faulty voting equipment, confusing ballots, voter error, and problems at polling places have been cited by a new study of the 2000 United States presidential election, which estimated that they did not count 4 million to 6 million of the 100 million votes cast.

A. Faulty voting equipment, confusing ballots, voter error, and problems at polling places have been cited by a new study of the 2000 United States presidential election, which estimated that they did not count 4 million to 6 million of the 100 million votes cast.

B. Citing faulty voting equipment, confusing ballots, voter error, and problems at polling places, a new study of the 2000 United States presidential election has estimated that 4 million to 6 million of the 100 million votes cast were not counted.

C. Citing faulty voting equipment, confusing ballots, voter error, and problems at polling places, 4 million to 6 million of the 100 million votes cast were not counted in the 2000 United States presidential election, a new study estimates.

D. A new study has cited faulty voting equipment, confusing ballots, voter error, and problems at polling places in estimating that 4 million to 6 million of the 100 million votes that were cast had not been counted in the 2000 United States presidential election.

E. A new study of the 2000 United States presidential election, citing faulty voting equipment, confusing ballots, voter error, and problems at polling places, has estimated 4 million to 6 million votes had not been counted of the 100 million votes cast.

---------------------------------------------------------------------------------------------------------------------------------------

Q2. GWD1-Q30:（原CD1-30）

The ancient Anasazi harvested such native desert vegetation as the purple-flowered bee plant, what they now commonly call wild spinach in northern Arizona and other parts of the southwestern United States.

A. what they now commonly call

B. a plant that they now commonly call

C. now commonly called

D. and is mow commonly called

E. which it is now commonly called

---------------------------------------------------------------------------------------------------------- 

Q3: GWD32-Q1
The cause of the wreck of the ship Edmund Fitzgeraid in a severe storm on lake Superior is still unknown , when the sunken wreckage of the vessel was found, searchers discovered the hull in two pieces lying close together, The storm’s violent waves would have caused separate pieces floating even briefly on the surface to drift apart. Therefore, the breakup of the null can be ruled out as the cause of the sinking.

Which of the following is an assumption on which the argument depends?

A. Ships as large as the Edmund Fitzgerald rarely sink except in the most violent weather.

B. Under water currents at the time of the storm did not move the separated pieces of the hull together again.

C. Pieces of the hull would have sunk more quickly than the intact hull would have 

D. The waves of the storm were not violent enough to have caused the breakup
E. If the ship broke up before sinking , the pieces of the hull would not have remained on the surface for very long 

------------------------------------------------------------------------------------------------------------

Q4~Q6: GWD32—32-34
     The dry mountain ranges of the western United States contain rocks dating back 440 to 510 million years, to the Ordovician period, and teeming with evidence of tropical marine life. This rock record provides clues about  one of the most significant radiations  (periods when existing life-forms gave rise to variations that would eventually evolve into entirely new species) in the history of marine invertebrates. During this radiation the number of marine biological families increased greatly, and these families included species  that would dominate the marine ecosystems of the area for the next 215 million years. Although the radiation spanned tens of millions of years, major changes in many species occurred  during a geologically short time span within the radiation and, furthermore, appear to have occurred worldwide, suggesting that external events were major factors in the radiation. And , in fact, there is evidence of major ecological and geological changes during this period: the sea level dropped drastically and mountain ranges were formed, in this instance, rather than leading to large-scale extinctions, these kinds of environmental changes may have resulted in an enriched pattem of habitats and nutrients, which in turn gave rise to the Ordovician radiation. However, the actual relationship between these environmental factors and the diversification of life forms is not yet fully understood 

-------------------------------------------------------------------------------------------------------


Q4: The passage is primarily concerned with 

A. evaluating the evidence of a major geologic period and determining its duration 

B. describing an evolutionary phenomenon and speculating about its cause 

C. explaining the mechanisms through which marine life-forms evolved during a particular period 

D. analyzing the impact on later life-forms of an important evolutionary development 

E. contrasting a period of evolutionary change with other such periods 

---------------------------------------------------------------

Q5. Which of the following can be inferred from the passage regarding the geologic changes that occurred during Ordovician period?

A. They were more drastic than those associated with other radiations 

B. They may have created conditions favorable to the evolution of many new life-forms 

C. They may have caused the extinction of many of the marine species living in shallow waters 

D. They may have been a factor in the development of new species adapted to living both on land and in water 

E. They hastened the formation of the extensive dry regions found in the western united states 

----------------------------------------------------------------
Q6. Which of the following best describes the function of last sentence of the passage ?

A. it points out that the events described in the passage may be atypical 

B. it alludes to the fact that there is disagreement in the scientific community over the importance of the Ordovician radiation

C. it concludes that the evidence presented in the passage is insufficient to support the proposed hypothesis because it comes from a limited geographic area 

D. it warns the reader against seeing a connection between the biological and geolgic changes described in the passage 

E. it alerts the reader that current knowledge cannot completely explain the relationship suggested by the evidence presented in the passage
------------------------------------------------------------------------------------------------------------
Q7:GWD32-Q10

The soft drink company’s flat earnings for the second quarter reflect the success of both its restructured global bottling system and the extent to which poor currency exchange rates keep down profits for multinational companies 
A. reflect both the success of its restructured global bottling system and the extent of poor currency exchange rates keeping 

B. reflect both the success of its restructured global bottling system and the extent to which poor currency exchange rates are keeping 

C. reflect both the success of its restructured global system and the extent of poor currency exchange rates keeping 

D. both reflect the success of its restructured global bottling system and to what extant poor currency exchange rates are keeping 

E. both reflect the success of its restructured global bottling system and to what extent poor currency exchange rages are keeping
------------------------------------------------------------------------------------------------------------
Q8:TTGWD2-Q1:
Neither First Lady Eleanor Roosevelt nor Secretary of Labor Frances Perkins sought recognition by the press, and both cautiously allowed others of the Roosevelt brain trust to take credit for the genesis of historic programs in public employment, relief, and social security that were in large measure what they had been responsible for.

A. to take credit for the genesis of historic programs in public employment, relief, and social security that were in large measure what they had been responsible for   
B. to take credit for the genesis of historic programs in public employment, relief, and social security for which the two women were in large measure responsible

C. taking credit for the genesis of historic programs in public employment, relief, and social security for which the two women were in large measure responsible     

D. taking credit for the genesis of historic programs in public employment, relief, and social security that were in large measure what they were responsible for    

E. taking credit for the genesis of historic programs in public employment, relief, and social security which were largely their responsibility
------------------------------------------------------------------------------------------------------------

Q9:PP-SC5

The Achaemenid empire of Persia reached the Indus Valley in the fifth century B.C., bringing the Aramaic script with it, from which was derived both northern and southern India alphabets.

A. the Aramaic script with it, from which was derived both northern and

B. the Aramaic script with it, and from which deriving both the northern and the

C. with it the Aramaic script, from which derive both the northern and the

D. with it the Aramaic script, from which derives both northern and

E. with it the Aramaic script, and deriving from it both the northern and

------------------------------------------------------------------------------------------------------------

Q10:GWD32-Q7

Travel agents are market intermediaries who make their living by gathering, organizing, and dispensing information about travel-related services that is not readily available to most consumers through new information technologies, such as the internet much of this information can now be made directly available to consumers. Demand for the services of travel agents will be drastically reduced 

Which of the following, if true, most seriously weakens the argument?

A. Travel agents routinely use the internet and other new information technologies as sources for the information they obtain for their customers.

B. The amount of information available through the internet and other new information technologies is increasing faster than the capabilities of most consumers to process it 

C. Many people use travel-related services, such as airlines and hotels without consulting a travel agent.

D. The people who currently use the services of travel agents are also those most likely to gain access to new information technologies

E. The internet and other new information technologies are currently used by a relatively small proportion of the population
------------------------------------------------------------------------------------------------------------

Q11~Q14: PP-RC 1 GWD32-Q25-Q28

There is widespread belief that the emergence of giant industries has been accompanied by an equivalent surge in industrial research. A recent study of important inventions made since the turn of the century reveals that more than half were the product of individual inventors working alone, independent of organized industrial research. While industrial laboratories contributed such important products as nylon and transistors, independent inventors developed air conditioning, the automatic transmission, the jet engine, the helicopter, insulin, and streptomycin. Still other inventions, such as stainless steel, television, silicones, and Plexiglas (Plexiglas: n.树脂玻璃(多用以制造飞机座舱罩、镜片等)) were developed through the combined efforts of individuals and laboratory teams.

Despite these finding, we are urged to support monopolistic power on the grounds that such power creates an environment supportive of innovation. We are told that the independent inventor, along with the small firm, cannot afford to undertake the important research needed to improve our standard of living while protecting our diminishing resources; that only the giant corporation or conglomerate, with its prodigious assets, can afford the kind of expenditures that produce the technological advances vital to economic progress. But when we examine expenditures for research, we find that of the more than $35 billion spent each year in this country, almost two-thirds is spent by the federal government. More than half of this government expenditure is funneled into military research and product development, accounting for the enormous increase in spending in such industries as nuclear energy, aircraft, missiles, and electronics. There are those who consider it questionable that these defense-linked research projects will either improve our standard of living or do much to protect our diminishing resources.

Recent history has demonstrated that we may have to alter our longstanding conception of the process actuated by competition. The price variable, once perceived as the dominant aspect of the process, is now subordinate to the competition of the new product, the new business structure, and the new technology. While it can be assumed that in a highly competitive industry not dominated by single corporation, investment in innovation—a risky and expensive budget item—might meet resistance from management and stockholders concerned about cost-cutting, efficient organization, and large advertising budgets, it would be an egregious error to equate the monopolistic producer with bountiful expenditures on research. Large-scale enterprises tend to operate more comfortably in stable and secure circumstances, and their managerial bureaucracies tend to promote the status quo and resist the threat implicit in change. Moreover, in some cases, industrial giants faced with little or no competition seek to avoid the capital loss resulting from obsolescence by deliberately obstructing technological progress. By contrast, small firms undeterred by large investments in plant and capital equipment often aggressively pursue new techniques and new products, investing in innovation in order to expand their market shares.

      The conglomerates are not, however, completely except from strong competitive pressures. There are instances in which they too must compete with another industrial Goliath, and then their weapons may include large expenditures for innovation.
Q11.The primary purpose of the passage is to

(A) advocate an increase in government support of organized industrial research

(B) point out a common misconception about the relationship between the extent of industrial research and the growth of monopolistic power in industry

(C) describe the inadequacies of small firms in dealing with the important matter of research and innovation

(D) show that America’s strength depends upon individual ingenuity and resourcefulness（B）
(E) encourage free-market competition among industrial giants

------------------------------------------------------------------------
Q12
According to the passage, important inventions of the twentieth century

(A) were produced largely as a result of governmental support for military weapons research and development

(B) came primarily from the huge laboratories of monopolistic industries

(C) were produced at least as frequently by independent inventors as by research teams

(D) have greater impact on smaller firms than on conglomerates（C）
(E) sometimes adversely affect our standard of living and diminish our natural resources

--------------------------------------------------------------------
Q13:  It can be inferred from the passage that the author

(A) has little confidence in the ability of monopolistic industry to produce the important inventions of the future

(B) would rather see the federal government spend money on social services than on the defense establishment

(C) favors a conservative approach to innovation and places trust in conglomerates to provide efficient production

(D) feels that price should still be the dominant variable in the competitive process（A）


(E) believes that excessive competition is a deterrent to innovation
Q14
The passage contains information that answers which of the following questions?

I.
What portion of the research dollar in this country is spent each year by the federal government?

II.
Under what circumstances is an industrial giant likely to invest heavily in innovation?

III.
Why might a monopolistic producer want to suppress an innovation?

(A) I only

(B) II only

(C) I and II only

(D) II and III only（E）
        (E) I, II, and III
------------------------------------------------------------------------------------------------------------

Q15: TTGWD4-Q17:

The steel industry has changed radically over the last two decades, as large, integrated companies such as Bethlehem Steel once conducted operations from mining at one end of the process to shipping at the other have greatly downsized, or in some cases shut down altogether. 

A. as large, integrated companies such as Bethlehem Steel

B. as large, integrated companies, such as Bethlehem Steel, that

C. with large, integrated companies, such as Bethlehem Steel, that

D. while large, integrated companies, such as Bethlehem Steel, that 

E. and large, integrated companies such as Bethlehem Steel
------------------------------------------------------------------------------------------------------------
Q16: TTGWD4-Q1:

The Acoma and Hopi are probably the two oldest surviving Pueblo communities, both dating back at least a thousand years.

A. both dating 
B. both of which have dated  
C. and each has dated 
D. and each one dating 

E. each one of which date
------------------------------------------------------------------------------------------------------------
Q17:GWD32-Q8

Last August the XT chain of gasoline stations had a temporary sales promotion in effect. In the promotion, any customer who made a purchase of ten or more gallons of gasoline was entitled to a free car wash. For the month of August, XT experienced a ten percent increase in gasoline sales as compared to sales in August the previous year, so evidently the promotion was successful as a means of boosting sales.

In evaluating the argument, it would be most helpful to answer which of the following?

A. In the areas in which XT’s gasoline stations operate, how did total combined gasoline sales for all gasoline stations last August compare with sales for the previous August?

B. Was the money that XT earned from the increase in gasoline sales enough to offset the cost of providing free car washes during the promotion?

C. Were there any customers who bought ten or more gallons at an XT gasoline station during the promotion who would have or more gallons at an XT gasoline in lower quantities, but more frequently, if the promotion had not been in effect?

D. Did XT or any of its gasoline stations have to pay other businesses to provide the car washes that customers were offered in the promotion?

E. Are XT’s gasoline sales in August usually significantly higher than one twelfth of XT’s annual gasoline sales?

------------------------------------------------------------------------------------------------------------
Q18:GWD32-Q11

Several ancient Greek texts provide accounts of people being poisoned by honey that texts suggest was made from the nectar of rhododendron or oleander plants. Honey made from such nectar can cause the effects the texts describe, but only if eaten fresh, since the honey loses its toxicity within a few weeks of being made. In Greece, rhododendrons and oleander bloom only in springtime, when they are the predominant sources of nectar.

Which of the following, if true, most strongly support the accounts of Greek texts?

A. There are no plants that Greece in ancient times that produce more nectar than rhododendrons or oleanders does.
B. In areas where neither rhododendrons nor oleanders grow, honey is never poisonous.
C. A beebive’s honeycomb cannot have some sections that contain toxic honey and other sections that contain nontoxic honey 
D. The incidents of honey poisoning that are related in the ancient texts occurred in the springtime or in the early summer

E. Whether the honey in a beehive is toxic depends solely on which plants were the source of that was used to make the honey.

------------------------------------------------------------------------------------------------------------
Q19: TTGWD4-Q18:

Unlike the many winter greens that have tough leaves and thus require a lengthy cooking time, those of escarole need little or no cooking. 

A. many winter greens that have tough leaves and thus require a lengthy cooking time, those of escarole need

B. many winter greens that have tough leaves and thus require a lengthy cooking time, escarole needs

C. tough leaves of many winter greens and that they require for a lengthy cooking time, escarole needs

D. tough leaves of many winter greens and the requirement that they have a lengthy cooking time, those of escarole need

E. lengthy cooking time required by the many winter greens with tough leaves, escarole needs
------------------------------------------------------------------------------------------------------------
Q20: TTGWD4-Q30:

Under high pressure and intense heat, graphite, the most stable form of pure carbon, changes into the substance commonly referred to as diamond and remaining this way whether or not the heat and pressure are removed.

A. remaining this way whether or not

B. remaining like that even as

C. remaining as such whether or not

D. remains in this way although
E. remains thus even when
------------------------------------------------------------------------------------------------------------
Q21:TT-GWD 2-27
Rye sown in the fall and plowed into the soil in early spring leaves a residue that is highly effective at controlling broad-leaved weeds, but unfortunately for only about 45 days. No major agricultural crop matures from seed in as little as 45 days. Synthetic herbicides, on the other hand, although not any longer-lasting, can be reapplied as the crop grows. Clearly, therefore, for major agricultural crops, plowing rye into the soil can play no part in effective weed control. 

The argument is most vulnerable to the objection that it fails to 

A. consider that there might be minor, quick-growing crops that do mature in 45 days or less 
B. identify any alternative method of weed control that could be used instead of the method it  rejects 
C. distinguish among the various kinds of synthetic herbicides 
D. allow for the possibility of combining the two weed-control methods it mentions 
E. allow for the possibility that plants other than rye, handled the same way, might have the same effect

------------------------------------------------------------------------------------------------------------
Q22: 

The sense of delayed gratification, of working now for later pleasure, has helped shape the economic behavior of our society. However, that sense is no longer nurtured as consistently in our children as it once was. For example, it used to take a bit of patience to put together the toys that children got in cereal boxes; now the toys come from the boxes whole. 

Which of the following is an assumption of the passage above? 

A. The toys in cereal boxes have changed partly because the economic conditions of our society have improved.

B. The influence of promotion gimmicks on the economic behavior of our society has increased over the years. 

C. The toys that used to come in cereal boxes were put together by the same children who played with them. 

D. Part of the pleasure of any toy lie in putting the toy together before playing with it. 

E. Today's children do not expect a single toy to provide pleasure for a long period of time.
------------------------------------------------------------------------------------------------------------
GWD-2-Q5 to Q8
      The traditional model of employer-employee relations in the United States was a “psychological contract” in which employees made long-term commitments to organizations in exchange for long-term job security, training and development, and internal opportunities for promotion.  Beginning mainly with the recession in the early 1970’s, this paradigm began to unravel.  Organizations began using extensive downsizing and outsourcing to decrease the number of permanent employees in the workforce.  Among employees this situation has resulted in a decided shift in desire: instead of working their way up in an organization, many now prefer to work their way out.  Entrepreneurship at the small business administration are now the fastest-growing majors in business schools.


   Several factors have generated movement from the old paradigm to the new one. Organizations have had legitimate and pressing reasons to shift to a new paradigm of employer-employee relations.  Large numbers of permanent employees make it difficult for organizations to respond quickly to downturns in demand by decreasing payroll costs. The enormous rights in wrongful discharge suites has created incentives for organizations to use temporary, contract, and leased employees in order to distance themselves from potential litigation problems.  Moreover, top management is under increased pressure from shareholders to generate higher and higher levels of return on investment in the short run, resulting in declines in hiring, increases in layoffs, and shortage of funds for employee development.

   At the same time, a lack of forthrightness on the part of organizations has led to increased cynicism among employees about management’s motivation and competence. Employees are now working 15 percent more hours per week than they were 20 years ago, but organizations acknowledge this fact only by running stress-management workshops to help employees to cope.  Sales people are being asked to increase sales at the same time organizations have cut travel, phone, and advertising budgets.  Employees could probably cope effectively with changes in the psychological contract if organizations were more forthright about how they were changing it. But the euphemistic jargon used by executives to justify the changes they were implementing frequently backfires; rather than engendering sympathy for management’s position, it sparks employees’ desire to be free of the organization all together.  In a recent study of employees’ attitudes about management, 49 percent of the sample strongly agreed that “management will take advantage of you if given the chance.”
------------------------------------------------------------------

Q23: 

The primary purpose of the passage is to

A. discuss the financial implications of a recent shift in attitudes among workers

B. propose a new approach for businesses to increase loyalty among their employees

C. defend certain business practices in light of criticism of corporations, actions in a recent past

D. speculate about possible long term benefits of a recent change in the general business climate

E. consider some of the factors contributing to a major shift in employer-employee relationships

------------------------------------------------------------------
Q24:

The passage suggests that which of the following is a legitimate reason for organizations’ shift to the new model of employer-employee relations?

A. Organizations tend to operate more effectively when they have a high manager-to-employee ratio.

B. Organizations can move their operations to less expensive locations more easily when they have fewer permanent employees.

C. Organizations have found that they often receive higher quality work when they engage in outsourcing.

D. Organizations with large pools of permanent workers risk significant financial losses if the demand for their product or service decreases.

E. Organizations are under increasing pressure to adopt new technologies that often obviate the need for certain workers.

-------------------------------------------------------------------
Q25:
Which of the following best characterizes the function of the final sentence of the passage (lines 30-32)?

A. It is such as an alternative explanation for phenomenon discussed earlier in the passage.

B. It provides data intended to correct a common misconception.

C. It further weakens an argument that is being challenged by the author.

D. It introduces a specific piece of evidence in support of a claim made at beginning of the final paragraph 

E. It answers a question that is implicit in the preceding sentence.

-----------------------------------------------------------------


Q26:
The passage suggests that organizations’ movement to the “new paradigm” (line 11) is based in part on the expectation that wrongful discharge suites against employers are____?

A. less likely to be filed by non-managerial employees than by managers

B. less likely to be filed by leased employees than by contract employees

C. less likely to be filed by contract employees than by permanent employees

D. more likely to be filed by employees with a long history in the organization than by newer hirers

E. more likely to be filed in small organizations than in large ones

------------------------------------------------------------------------------------------------------------
Q27: TTGWD4-Q39.

Unearthed in China, fossils of feathered dinosaurs offer the most dramatic evidence yet discovered of the close evolutionary relationship between dinosaurs and birds.

A. offer the most dramatic evidence yet discovered of the close evolutionary relationship between dinosaurs and birds

B. offer evidence more dramatic than what has yet been discovered of the close evolutionary relationship between dinosaurs and birds 

C. offer more dramatic evidence of the close evolutionary relationship than any yet discovered between dinosaurs and birds 

D. have offered the most dramatic evidence of the close evolutionary relationship between dinosaurs and birds

E. have offered more dramatic evidence than any that has yet been discovered of the close evolutionary relationship between dinosaurs and birds
------------------------------------------------------------------------------------------------------------
Q28: TTGWD11-Q29:

As Charles Darwin observed, natural selection operates whenever individuals of one genetic composition are better at reproducing than that of others.

A. that of others

B. the other       
C. another  
D. those of another

E. that of the next

------------------------------------------------------------------------------------------------------------
Q29: PP-10

The yield per acre of coffee berries varies enormously in that a single tree, depending on both its size and on climate and altitude, could produce enough berries to make between one and twelve pounds of dried beans a year.

A. enormously in that a single tree, depending on both its size and on climate and altitude, could produce

B. enormously in that a single tree, dependent on its size and also on climate and altitude, is able to produce

C. enormously, because a single tree, depending on its size and on climate and altitude, is able to produce

D. enormously, because a single tree, being dependent on its size, climate, and altitude, is capable of producing

E. enormously, because a single tree, dependent both on its size as well as on climate and altitude, could produce

------------------------------------------------------------------------------------------------------------
Q30:PP-17
The new image of Stone Age people as systematic hunters of large animals, rather than merely scavenging for meat, have emerged from the examination of tools found in Germany, including three wooden spears that archaeologists believe to be about 400,000 years old.

A. merely scavenging for meat, have emerged from the examination of tools found in Germany, including

B. as merely scavenging for meat, have emerged from examining tools found in Germany, which include

C. as mere meat scavengers, has emerged from examining tools found in Germany that includes 

D. mere scavengers of meat, has emerged from the examination of tools found in Germany, which includes

E. mere scavengers of meat, has emerged from the examination of tools found in Germany, including

------------------------------------------------------------------------------------------------------------
Q31: FF-19.

Jane: Television programs and movies that depict violence among teenagers are extremely popular. Given how influential these media are, we have good reason to believe that these depictions cause young people to engage in violent behavior. Hence, depictions of violence among teenagers should be prohibited from movies and television programs, if only in those programs and movies promoted to young audiences. 

Maurice: But you are recommending nothing short of censorship! Besides which, your claim that television and movie depictions of violence cause violence is mistaken: violence among young people predates movies and television by centuries. 

Which one of the following, if true, most strengthens Jane’s argument? 

A. The most violent characters depicted in movies and on television programs are adult characters which are portrayed by adult actors. 

B. The movies that have been shown to have the most influence on young people’s behavior are those that are promoted to young audiences. 

C. The people who make the most profits in the movie and television industry are those who can successfully promote their work to both young and old audiences. 

D. Many adolescents who engage in violent behavior had already displayed such behavior before they were exposed violence in movies. 

E. Among the producers who make both movies and television programs, many voluntarily restrict the subject matter of films directed toward young audiences. 

------------------------------------------------------------------------------------------------------------
Q32:GWD-13-Q5*:
Vorland’s government is planning a nationwide ban on smoking in restaurants.  The objection that the ban would reduce restaurants’ revenues is ill founded.  Several towns in Vorland enacted restaurant smoking restrictions five years ago.  Since then, the amount the government collects in restaurant meal taxes in those towns has increased 34 percent, on average, but only 26 percent elsewhere in Vorland.  The amount collected in restaurant meal taxes closely reflects restaurants’ revenues.

Which of the following, if true, most undermines the defense of the government’s plan?

A. When the state first imposed a restaurant meal tax, opponents predicted that restaurants’ revenues would decline as a result, a prediction that proved to be correct in the short term.

B. The tax on meals in restaurants is higher than the tax on many other goods and services.

C. Over the last five years, smoking has steadily declined throughout Vorland.

D. In many of the towns that restrict smoking in restaurants, restaurants can maintain separate dining areas where smoking is permitted.

E. Over the last five years, government revenues from sales taxes have grown no faster in the towns with restaurant smoking restrictions than in the towns that have no such restrictions.

------------------------------------------------------------------------------------------------------------
Q33:PP-28
The spectacular disintegration of a comet last year in full view of ground- and space-based telescopes provided new insights into how comets form and may thus force a rethinking of the role of comets in the delivery of organic compounds to the evolving Earth.

A. The spectacular disintegration of a comet last year in full view of ground- and space-based telescopes provided new insights into how comets form and may thus force

B. The spectacular disintegration of a comet last year in full view of ground- as well as space-based telescopes, provided new insights into how comets form and thus possibly forcing

C. When a comet's spectacular disintegration occurred in full view of ground- and space-based telescopes last year, it provided new insights into how comets form and thus may possibly force

D. Last year, in full view of ground- and space-based telescopes, a comet's spectacular disintegration provided new insights into how comets form and thus possibly forcing

E. Last year, in full view of ground- as well as space-based telescopes, the spectacular disintegration of a comet has provided new insights into how comets form and may thus force

------------------------------------------------------------------------------------------------------------
Q34: PP-SC45
Hydrocarbons, with which fruit flies perfume themselves in species-specific blends, are known to be important in courtship, and apparently this assists flies that taste the hydrocarbons on prospective mates to distinguish their own species from that of others.

A. and apparently this assists flies that taste the hydrocarbons on prospective mates to distinguish their own species from that of

B. and apparently this assists flies when they taste the hydrocarbons on prospective mates in distinguishing their own species from those of

C. which apparently assists flies that tastes the hydrocarbons on prospective mates in being able to distinguish their own species from

D. apparently assisting flies to taste the hydrocarbons on prospective mates to distinguish their own species from those of

E. apparently assisting flies that taste the hydrocarbons on prospective mates in distinguishing their own species from

------------------------------------------------------------------------------------------------------------
Q35~Q37: T-7-Q23-Q25
        Companies that must determine well in advance of the selling season how many units of a new product to manufacture often underproduce products that sell well and have overstocks of others. The increased incidence in recent years of mismatches between production and demand seems ironic, since point-of-sale scanners have improved data on consumers’ buying patterns and since flexible manufacturing has enabled companies to 24 produce, cost-effectively, small quantities of goods. This type of manufacturing has greatly increased the number of new products introduced annually in the United States. However, frequent introductions of new products have two problematic side effects. For one, they reduce the average lifetime of products; more of them are neither at the beginning of their life (when prediction is difficult) or at the end of their life (when keeping inventory is expensive because the products will soon become obsolete). For another, as new products proliferate, demand is divided among a growing number of stock-keeping units (SKU’s). Even though manufacturers and retailers can forecast aggregate demand with some certainty, forecasting accurately how that demand will be distributed among the many SKU’s they sell is difficult.  For example, a company may be able to estimate accurately the aggregate number of shoes it will sell, but it may be uncertain about which specific types of shoes will sell more than other types.
------------------------------------------------------------------


Q35:
Which of the following most accurately describes the function of the last sentence in the passage (lines 35-40)?
A. To cite a situation in which the aggregate demand is more important than the distribution of demand among SKU’s
B. To refute an assertion about the side effects of flexible manufacturing
C. To illustrate an assertion about companies’ ability to forecast demand
D. To provide an example of ways in which companies address the difficulties of forecasting demand
E. To note an exception to the author’s assertion about distributing demand among SKU’s 

----------------------------------------------------------------
Q36:
The passage suggests which of the following about divided demand among a growing number of SKU’s?
A. It has increased the average lifetime of products.
B. It has resulted from retailer’s attempts to predict demand more accurately and avoid both understocks and overstocks.
C. It has decreased the use of flexible manufacturing by companies.
D. It has not increased the expense of keeping inventory of certain products.
E. It has not prevented companies from predicting aggregate demand with some certainty. 

----------------------------------------------------------------
Q37:TTGWD-6

According to the passage, which of the following has led to growth in the number of new products introduced in the United States each year?

A. Reduced average lifetime of products

B. Increased ability to forecast aggregate demand

C. More cost-effective ways of keeping inventory for products

D. Cost-effective production of small quantities of goods

E. Increased ability to divide demand among a number of SKU’s and to forecast how that demand will be distributed among those SKU’s
-------------------------------------------------------------------------------------------------------
Q38:GWD-13-Q7:
Which of the following most logically completes the argument?

A significant number of Qualitex Corporation’s department heads are due to retire this year.  The number of employees other than current department heads who could take on the position of department head is equal to only about half of the expected vacancies.  Oualitex is not going to hire department heads from outside the company or have current department heads take over more than one department, so some departments will be without department heads next year unless Qualitex ______.

A. promotes some current department heads to higher-level managerial positions

B. raises the salary for department heads

C. reduces the number of new employees it hires next year

D. reduces the average number of employees per department

E. reduces the number of its departments

------------------------------------------------------------------------------------------------------------
Q39: GWD-13-Q9:

Business Analyst:  National Motors began selling the Luxora—its new model of sedan—in June.  Last week, National released sales figures for the summer months of June, July, and August that showed that by the end of August only 80,000 Luxoras had been sold.  Therefore, National will probably not meet its target of selling 500,000 Luxoras in the model’s first twelve months.

Which of the following would be most useful to establish in order to evaluate the analyst’s prediction?

A. Whether new-car sales are typically lower in the summer months than at any other time of the year

B. Whether National Motors currently produces more cars than any other automaker

C. Whether the Luxora is significantly more expensive than other models produced by National Motors

D. Whether National Motors has introduced a new model in June in any previous year

E. Whether National Motors will suffer serious financial losses if it fails to meet its sales goal for the Luxora

------------------------------------------------------------------------------------------------------------
Q40:GWD-5-Q32:
Which of the following most logically completes the argument?

Although the pesticide TDX has been widely used by fruit growers since the early 1960’s, a regulation in force since 1960 has prohibited sale of fruit on which any TDX residue can be detected.  That regulation is about to be replaced by one that allows sale of fruit on which trace amounts of TDX residue are detected.  In fact, however, the change will not allow more TDX on fruit than was allowed in the 1960’s, because ______.

A. pre-1970 techniques for detecting TDX residue could detect it only when it was present on fruit in more than the trace amounts allowed by the new regulations

B. many more people today than in the 1960’s habitually purchase and eat fruit without making an effort to clean residues off the fruit

C. people today do not individually consume any more pieces of fruit, on average, than did the people in the 1960’s

D. at least a small fraction of the fruit sold each year since the early 1960’s has had on it greater levels of TDX than the regulation allows

E. the presence of TDX on fruit in greater than trace amounts has not been shown to cause any harm even to children who eat large amounts of fruit

------------------------------------------------------------------------------------------------------------
Q41:PP-SC46
If current trends continue, by the year 2010 carbon emissions in the United States will soar to a level more than one-third higher than were those in 1990, according to official projections.

A. will soar to a level more than one-third higher than were those
B. will soar to a level more than one-third higher than that
C. would soar to a level more than one-third higher than is was
D. would soar to a level more than one-third higher than those
E. would soar to a level more than one-third higher than they were
